XALQ TA'LIMI
VAZIRLIGI

1-gism: Har bir topshirig 0,9 balldan baholanadi

1. “You can base your geography assignment on
country — it doesn’t matter which.

A)a B) some

C) any D) none

2. If the trend continues, the average income

by 107% by 2030
A) will increase B) will have increased
C) will be increasing D) will have been

increased

3. people live in the countryside than 100
years ago

A) Less B) Few

C) Fewer D) Little

4. We in our new house for several months.
A) lives B) lived

C) have lived D) have been living

5.1fhe __ Englishwell, he __ the article without
difficulty yesterday.

A) knew / would have translated

B) knows / would translate

C) has known / will have translated

D) knows / translated

6. To travel in the European Community, Dutch people
a passport.

A) haven’t got

C) mustn’t get

B) don’t need
D) shouldn’t get

7. He wants to get a better and earn more

money.
A) job B) work
C) employ D) employment

Nowadays, in England, tea is quite the most popular,
and also the cheapest, of all drinks. People drink their
tea in different ways. Some like it with sugar, some
without. Some drink it with milk, some with lemon; yet,
one way or another just about everyone drinks tea. This,
however, has not always been the case. During the last
century, when tea was very  expensive,
it was kept locked up, and the lady of the house had the
key. Tea drinking then was quite a ceremony, reserved
for the evenings. At breakfast everyone drank beer!

8. Compared with the past, in England today .
A) more and more people prefer tea to beer.

B) tea is regarded as a luxury.

C) tea is very cheap and commonly available.

D) sugar is becoming less and less popular.
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9. It is obvious from the passage that .

A) English people have always regarded tea as better
than beer.

B) over the years the popularity of tea in England has
increased tremendously.

C) drinking tea with lemon is only a recent habit in
England.

D) like tea, beer also is an extremely popular drink.

10. In the passage it is explained that .

A) in England today people have different habits of tea
drinking.

B) in the past in England only the wealthy were able to
drink beer.

C) at breakfast English people also like to drink beer.
D) English people mostly prefer to have their tea in the
evening.

2-qism: Har bir topshirig 1,5 balldan baholanadi

Helen Keller’s deafness and blindness ___(11)__ by a
severe illness when she was a baby. Her parents
_(12) __ what to do, and they _ (13) it difficult to
control their growing daughter.

11. A) cause B) caused

C) were caused D) has caused

12. A) didn’t know B) doesn’t know

C) knew D) knows
13. A) find B) finds
C) were found D) found

14. 1 wanted to go there by plane but I hadn’t enough
money to pay for the

A) journey B) travel
C) voyage D) fly
151t the village where we spent our

holidays last summer.
A) reminds me of
C) reminds me to

B) remembers me of
D) remembers me to

16. The tailor made him a new

A) clothes B) suit

C) dress D) wear

17. I’'m very to you for your help.
A) grateful B) agreeable

C) pleased D) thanks

Some experts believe that robots will be able to
do jobs, which at the moment only human beings can
do; however, there are also others who disagree. One
London Company,
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UAS has already developed machines that can be
employed as 'home - helps' for old people unable to look
after themselves and who are living on their own. These
machines

can now carry out such things as cook eggs and clean
the floor, and the company says that future models will
be directed by simple voice instructions and controlled
by a 'brain’. Yet it is believed that we have a long way
to go before we can develop truly intelligent machines.

18. We understand from the passage that although
robots can do certain jobs ................

A) old people are still unable to look after themselves.
B) these ca not be done by human beings.

C) there are few others which cannot be done by
robots.

D) there are still many others which can only be done
by human beings.

19. The London company hopes to make a robot

A) that will respond to spoken orders.
B) with a simple voice.

C) which will give simple instructions.
D) to clean the floor of old people.

20. We can infer from the passage that in developing
intelligent robots................

A) man has made big advances.

B) we have few problems left.

C) there are many great problems to overcome.

D) scientists should agree with each other.

3-qism: Har bir topshirig 2,6 balldan baholanadi

21. He me by two games to one

A) beat B) conquered

C) gained D) won

22. He was killed in a car

A) blow B) crash

C) shock D) hit

23. PTO stands “Please turn over”— the page,
of course.

A) as B) like

C) for D) by

24, "Year in, year out" means
A) never B) constantly
C) eventually D) sometimes
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A) servants B) hands
C) minds D) thoughts
26. this newspaper report, more women

smoke than men nowadays.
A) Apparently
C) Supposedly

B) According to
D) Because of

27. You really should go to Namibia. The scenery is
stunning and the people are very friendly.
A) very B) fairly

C) absolutely D) too

28. We had better take the spare tire in case we

it.

A) should need B) shall need

C) will need D) have
needed

29. I didn’t hear you were seriously ill I
would have visited you so far.

A) otherwise B) besides

C) thus D) consequently

30. Most of our traditions are

practiced because they are regarded as obsolete.

A) any more
C) no longer

B) none
D) some more
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